
Rules of Logs
(1) In SMN) = InM + In N

(2) In (*) = IM- InN
(3) In (MF) = kInM

In (MK) = (In M)
*

(4) logsM=
Prove the rules and find y'where

y=v(x+4) ,
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(1) In SMN) = InM + In N

(2) In (*) = IM- InN

(3) In (MF) = kInM

In (MK) = (In M)
*

(4) logsM= (3) In (MF) = kInM

ein(Mk)
khm

Mk = (eim)
*

= MK

(1) In (MN) = InM + InN

gInMN = gIM
+ InN (4) log,M=

InM

MN = ehM . gIN M = bint

MN = MN
=> In M = In (b)

(2) In (1) = IM-InN
= IM. In
= In M

InM-IN

ent = e

=



y =x(x+4)
,

x70

log y = + log(x(x)+4))

logy= (log+lo

t . x = [(+4)

Y'=


